Squaring the polynomial (z + 2):



Squaring the polynomial (z + 2):

(x4+2)2=(x+2) (z+2)



S
quari
ng th
e polynomi
ial (z
+ 2):

(z+2)? = (
:1w2—|—2)~(w‘+2)



Squaring the polynomial (z + 2):

(x+2)2=@+2) (x+2)
=122 + 22



Squaring the polynomial (z + 2):

(x+2)2=(x+2) (x+2)
=122 + 2z + 2z



Squaring the polynomial (z + 2):

(x+2)2=(x+2) (x+2)
=122+ 2x+2x+4



Squaring the polynomial (z + 2):

(x+2)2=(x+2) (x+2)
=122+ 2x+ 22 +4



Squaring the polynomial (z + 2):

(x+2)2=(x+2) (x+2)
=122+ 2x+ 22 +4
=24+ 4x+4



